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ALTERNATIVE ENGLISH .
Full Marks - 80

Time — 3 Hours
General Instructions :
(i)  This question paper is divided into four sections - A, B, C and D.
(if)  All the sections are compulsory. Answer all the questions.
(iii) Write the number of the question before attempting it.

(iv) Figures in the margin indicate marks.

SECTION - A (25 marks)
GRAMMAR AND COMPOSITION

N

1. Identify the parts of speech of the underlined words in the following sentences : ~ 5x1=

(a) Heisagood cook. (adverb/adjective)

(b) She went to the market but did not buy anything new. (preposition / conjunction)
(c) My teacher asked me to complete the homework tomorrow. (preposition / adverb)
(d) Letmeknow when you are ready to leave. (conjunction / adverb)

(e) My mother told me to water the plants. (verb /noun)

2. Punctuate the following : 6x5 =3
don’t kill me said Chuchundra almost weeping

3. Make sentences using the following idioms and phrases to bring out their meanings : 5x1=5
(a) apiece of cake
(b) once in a blue moon
(c) let the cat out of the bag
(d) inthe nick of time

(e) tobedown with
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4. Write an essay on any one of the topics in about 120 -150 words : 6

(@) Importance of Self-discipline
OR
(b) My Last Day at School
5. Write a précis of the following passage. Give a suitable title. 6

The noblest deeds that have been done on Earth have not been done for gold. It was not
for the sake of gold that Lord Jesus came down and died on the cross. The Spartans looked
for no reward where they fought and died at Thermopylae. Socrates the wise asked no pay for
his countrymen but lived poor and barefooted all his days only caring to make them good and

noble. And there are heroes even in our own days also who do noble deeds but not for gold.
SECTION - B (20 marks)
POETRY

6.  Read the extract given below and answer the questions that follow :

“One shade the more, one ray the less,
Had half impair’d the nameless grace.
Which waves in every raven tress

Or softly lightens o’er her face ;”

(a) The extract is taken from — 1
(i) TheOld Woman (ii) She Walks in Beauty
(iii) The Slave’s Dream (iv) AFineDay

(b) The poetis—. : 1
(i) H.W Longfellow (ii) Joseph Campbell
(iii) Lord Byron (iv) Michael Drayton

(c) Whatis meantby ‘raven tress’? 1
(i) ablackbird (ii) black hair
(iii) black leaves (iv) black feather

HS/021 2 Contd.




HS/021
7., Read the extract given below and answer the questions that follow :

“My spirit flew in feathers then

That is so heavy now”,

(a) Name the poem and the poet. 1+1=2

(b) Explain the above lines. 3
8. Write the substance of the following : 4

‘Is this, is this your joy ?

O bird, then, I, though a boy,

For a golden moment share
Your featherly life in air !’
9. Answer any four of the following questions : 4x2=8
(a) Why did the slave ride through the plain like a king in his dream ?
(b) What does the poet want to offer to his country in the poem ‘I vow to Thee, My country’ ?
(c) Describe the character of the woman in ‘She Walks in Beauty’.
(d) Giveabriefoutline of the picture of a fine day drawn by Michael Drayton in his poem.
(e) “Who climbs with-toil, wheresoe’er, shall find wings waiting there”. Do you agree with
the poet ? Briefly explain why you agree / not agree with him.
SECTION - C (25 marks)
~ PROSE

10. Read the extract given below and answer the questions that follow : 4x1=4

“One word of ridicule stirs a man more than ten words of counsel”.

(a) Name the author - |
(i) Rudyard Kipling (ii) Prabhat K. Mukhopadyay

(iii) Oscar Wilde (iv) Stephen Leacock
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(b)  Nalini was angry at Kunjabala because —
(i) Shemade sarcastic comments about him
(ii)  She was a bad sister-in-law
(iii) They did not meet eye-to-eye
(iv) She was against her sister marrying him
(c) Nalini was ridiculed for hig -
(i) appearance (i1) behaviour
(iii) job (iv) height
(d) Another word for ridicule is —
(i) approval (1i)) compliment
(1i1) derision (iv) jesting
I1. Read the extract given below and answer the questions that follow : 4x]1=4

“Tragedy upon pitiful tragedy, and while I listened the ground round my feet was strewn with
flowers’.

(a) Who is the speaker ?
(i) Nalini (i1)) Jim Corbett
(iii) The Swallow (iv) The Happy Prince
(b) What s the tragedy the speaker speaks about ?
(i) Wars | (if) Many people have been killed

(iii) People fell ill (iv) People died of accidents

HS/021 4 Contd.
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(d)

12.  Answer any one of the following in about 100 120 words :

HS/021
Who caused the ‘tragedy’ ?

(i) Atiger (i) Aleopard
(iti) Alion (iv) A wild bear
Why was the ground strewn with flowers ?

(i) Flowers fell from trees

(ii) People threw flowers at each other

(iii) People offered flowers for thanks giving to the speaker

(iv) People decorated the ground with flowers.

6

(a) “Yet from an early age, strange conflicting qualities warred within his nature”. Elucidate

the strange conflicting qualities of Tolstoy’s nature.

OR

(b) How, according to Hilaire Belloc is fame acquired ? Which form of fame is most enduring ?

13. Answer the following questions in about 5075 words :

14. (a)

(b)

HS/021

Why did the Swallow not leave the prince and go to Egypt ?
Describe how the hill poeple show gratitude to Ibbotson and Corbett.

Why did the Swallow cry when the Happy Prince asked him to pluck out one of the

sapphires ? 2

What did G.K. Chesterton learn when he had to stand one leg because of his sprained

foot ? 3

5 P.TO.



SECTION - D (10 Marks)
RAPID READER

I5. Answer any three of the following in about 20-30 words :

(a)
(®)
(<)
(d)

16. Write a brief character sketch of Uriah Heep in about 40 -50 words.

HS/021

What profession did David’s aunt suggest for him ?
Describe Dora as a wife ?
Why did Miss Betsey want to have a niece, not a nephew ?

How did David lose everything he owned in the world ?

HS/021
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202;5
CIVICS & ECONOMICS
Full Marks - 80
Time - 3 Hours

General Instructions :

(1) All questions are compulsory.

(1i)  There are two sections, A and B carrying 40 marks each.

(iii) Write the number and sub-number of the question before attempting it.
(iv)  Figures in the margin indicate marks. )

SECTION —-A (CIVICS - 40 marks)

1. Choose the correct answer from the options given : 5x1=5
(a) The quorum of Rajya Sabha is —
(1) one-third (ii) one-tenth
(iii) half of members (iv) two-third
(b) Who is the constitutional head of the State ?
(1) The Governor (i) The Prime Minister
(iii)) The Chief Minister (iv) The Chief Justice
(c) The Chief Minister of a state holds his office —
(i) for 10 years . (i1) for 4 years
(iii). during the pleasure of Governor (iv) for S years
(d) Tdbecome the President of India, a person should have completed —
(i)I 25 years of age ' (if) 40 years of age
(iili) 35 years of age (iv) 50 years of age

|
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(¢) The 69™ Amendment Act incorporated special provision regarding

(i) Chandigarh Union Territory (ii) Delhi Union Territory

(iii) Pondicherry Union Territory (iv) Daman Union Territory

Tx1=7

rJ

Fill in the blanks with correct answers :

(a) Uncharitable remark against directive has —— . (n0 legal force behind them / legal

force behind them)
(b) is considered superior than Directive Principles. (Preamble/ Fundar nental Rights)
(c) People’s Courtis knownas_ . (Lok Adalat/ Lok Ayukta)

(d) Indiaishaving Party system. (multi / dual)

(e) Theoldest political party of India is (BJP/ Indian National Congress)

(f) Judges of the Supreme Court are appointed by the . (President of India / Chiefl

Minister)

seats for women in the State Assemblics

(2) A constitution amending Bill reserves

and the Parliament. (33 %/ 24%)

3. How is the Prime Minister removed from his office ? 2
4 - Mention atleast two qualifications to become the Chief Minister of State. 2
5. Name any four types of court in the district level. 2
6. Suggestany two ways for the upliftment of women by Indian Constitution. 2
7. Discuss any three executive powers of Governor. 3
8. Write a short note on ‘Communalism’. 3
9.  What are the qualifications for the appointment of a Judge of the Supreme Court? 3
10. Write three military powers of the President of India. 3
i1. State the powers of Lt. Governor of Delhi. 4
12.  Explain the functions of Political Party. | 4

HS/017 : z Contd.
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SECTION - B (ECONOMICS —40 marks)

13. Choose the correct answer from the options given : Sx1=5

(a)

The rapid and sustained increase in Agricultural output over a long period of time is
called -

(i)  White revolution (ii) Bluerevolution
(iii) Transportation (iv) Greenrevolution

(b)  Agriculture provides source of livelihood to nearly —
(1) 68% (i) 78 %
(iii) 58 % (iv) 48%

(¢) Where was the first telephone service introduced in India ?
(1) Delhi (i1) Kolkata
(iii) Bengaluru (iv) Mumbai

(d) Internal trade refers to —
(i) Trade between two countries (i) Border trade
(ii1) Trade within the country (iv) Trade outside the country

(e) The sector consisting of those production units which are owned and controlled by the
government is —
(i) Private Sector (ii) Individual Sector
(iii) Joint Sector - _ (iv) Public Sector

14, Fill in the blanks correctly : Tx1=7

(a) The total value of final goods and services produced by normal residents of a country
during a financial year is . (Net National Income / Per Capita Income)

(b) Foreign trade leads to - (economic growth / economic cooperation)

HS/017 3 P.T.O.



15.
16.
17.
18.
19.
20.
21.
22.
a3,
24.

HS/017

(¢) Sustainable development is a process that manages all available resources.
(short term / long term)

(d) The important tools of monetary policy is . (storage facilities / Bank rate
policy)

(e) Cause of low agricultural productivity in India is . (uneconomical size of land /
water scarcity)

(f) Industries which are run as household enterprises employing little or no hired labour
are called . (small scale industries / cottage industries)

(g) The first Civil Aviation Department was set up in (1972/1927)

Define Economic Welfare. : 2

Define seasonal unemployment. 2

What is meant by balance of trade ? : 2

Mention anjz two advantages of road transport. 2

Mention any three characteristics of economic growth. 3

Discuss three problems of Indian agriculture. . 3

Give three reasons for need of rapid industrialisation. 3

Explain ‘National Income’ as an economic indicator of development. 3

Discuss the evolution of role of a State in Indian economy. 4

What is meant by infrastructure ? Explain its types. 1+3=4

HS/017
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2023
COMMERCIAL STUDIES
Full Marks - 80

Time - 3 Hours

General Instructions :

(i)  All questions are compulsory.

(ii)  Write the number and sub-number of the quésrion before attempting it.

(iii) Figures in the margin indicate marks.

1.

Choose the correct answer from the given options : Tx1=7

(a)

(b)

(c)

(d

The persons who buy the products or services from the organisation for an agreed price —
(1) Sellers (ii) Customers

(iii) Brokers : (iv) Stake holders

Employment of children below the age of 14 years in any factory and mines is called —
(i) Force labour (i) Casual labour

(iii) Child labour (iv) Daily labour

To form public opinion about the organisation and its prducts or services is the object of —
(i) Publicity (ii) Sales promotion

(iii) Advertisement (iv) Processing

The total number of products and its items that a particular marketer offers to the market is —
(i) Product mix (ii) Marketing mix

(iii) Price mix (iv) Product life cycle

P.T.O.
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(€} T concemed with explaiming the meaning and significance of the relationship so
edablished by the analy ws
(1) Analysing (il) Recording
(i) Intepreting (iv) Classifying

(N A pant of accounting and is concemed with record keeping or maintainance of books of
sccounting which is often routine and clerical in nature -
(1) Book-keeping (ii)) Accountancy
(1) Accounting (iv) Double entry system

&' Along term educational process of improving the overall personality of an employee is —
(1} Tramung (ii) Placement
(11} Development (iv) Recruitment

. Fill in the blanks : Tx1=7

(a1 Anact which provides injury compensation to industrial workers is___ .

(b} The relationship between management and individual employees _____ relations.

{c) means what seller sells and what a buyer buys.

{4} Anexample for computerised machine in banking is :

(€} —— grent loans to its members at reasonable rate of interest.

({} A training that involves classroom training imparted with the help of equipment and
machines identical to those in use at place of work is called .

(g) The factors affecting the wage / work equation is called

3 Anwwer the following 10x1=10
(a) What is the full form of SACCS?
(b) Sute the meaning of Human Rights.

HS/014
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(¢) Whatis meant by service in marketing?
(d) Why is Branding important in marketing?
(¢) Why do Tax authorities need accounting information?
() For what purpose was IDBI originally established?
(8) When does the process of recruitment begin?
(h) What are the methods for the settlement of industrial disputes?
(i) Give one example of Indian Trade Union of Employers.
() Name the agencies of Industrial relation.
4.  State the expectations of suppliers. 3
5.  State three qualities of good Trade Mark. 3
6.  Distinguish between Marketing and Selling on the basis of -

(a) Focus (b) Starting (c) Profit 3
7.  State the qualities of a successful salesman. 3
8.  Write the three types of deposits accepted by the commercial banks as its primary function. 3
9.  What is meant by banking? Write any two kinds of commercial banks. 1+2=3
10. State any three requirements of training. 3
11. State any three aims of industrial relation. 3
12. Evaluate the advantages of Article 22 — 27 of UDHR for a person. 4
13. Mention the conditions under v?hich the Computerised Accounting System is useful. 4

14. (a) State the basic objectives of MRTP Act. Also explain the meaning of Monopolistic
Trade Practices. 4+4=8

OR

(b) Explain the purpose of regulation. 8
HS/014 3 P.T.O.
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IS, Anew cosmetic product was launched yesterday, what actions or methods would you take
to promote the sale of such product as a sales manager. Give at least four methods. 8
16. (a) Describe the benefits and limitations of conducting interviews. 4+4=8
OR
(b)  What purpose does Performance Appraisal serve ? 8

HS/014 4
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HINDI
Full Marks - 80

Time - 3 Hours

General Instructions :
(i)  All questions are compulsory.
(i)  Figures in the margin indicate marks.

(iii) Write your answers neatly and legibly.
(iv) While attempting a question, write the question number as given in the question paper.
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2023
HOME SCIENCE
(Theory)
Full Marks - 70
Time — 3 Hours

General Instructions :
(1) All questions are compulsory.
(i) Write the number and sub-number of the question before attempting it.

(iii)  Figures in the margin indicate marks.

1. Choose the correct answer from the given options : 5x1=5
(a) Standardisation mark which is put on electrical goods —
(i) FPO (i) AGMARKS
(1ii) Woolmarks (iv) ISI
(b) To protect rice from insects, it may be stored with —
(i) Turmeric powder and salt
(i) Saltand red chilli powder
(iii) Dhania powder and turmeric powder
(iv) Red chilli and dhania powder
(c) The universal bleaching agent is —

(i) Chlorine (11) Hydrogen peroxide

(iii) Bleaching powder (iv) Hydrochloric acid
(d) A three-year old child belongs to —

(1) Infancy (i) Adolescence

(1ii) Later childhood (iv) Early childhood
(¢) Development takes place from —

(i) Head to foot (ii)) Footto head

(111) Waist to head (iv) Foot to waist

PT.O.
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(a)
(b)
(c)
(d)
(e)
H

3.  Answer the following questions in ore or two sentences :

(a)
(b)
(c)
(d)
(e)
€y
(8)
(h)
(i) |
()

(a)
(b)
HSI015

The cost of product is given on the

2 Fill in the blanks :

All those foods which get spoiled very soon are known as

While buying, we should consider not only the cost, but the

Languages is a form of communication which

For storing, green leafy vegetables should be wrapped in

Define the word peers.

Define child development.

What is social development ?
What is meant by infancy ?

What is hoarding ?

.What is adulteration ?

What is a balanced diet?

Deﬁﬁe heredity.

What is meant by storage of food ?

What is meal - planning?

" Answer the following questions :

What is meant by standardisation marks ?

What is motor development ?

means increase in size and shape of the body.

are used to other people.

HS/015
6x1=6

10x1=10

10x2=20
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(¢)  What are the two types of resources ?
(d)  What does the word ‘laundering’ mean ?
()  What Pel'fomzance does Vitamin D improves for athletes ?
(f)  What are the two points you should keep in mind while selecting toys for children ?
(8) Why is shrinkage control required in fabrics ?
(h) Why is it important to generate additional income ?
(i) How will you prepare food to enhance its nutrients ? Give the importance of enhancing
-nutritive value of food.
(J) What are the two types of goals ?
5. Answer the following questions : 3%3=15
(a) How does play help a child to develop mentally ?
(b) Write the functions of proteins.
(c) What happens if there is a shortage of money in the family ?
(d) Write the equipment requirement for proper storage of food ?
(e) How can you prove that all resources are inter-related ?
6. What are the roles (influences) of books in the life of a child up to 3 years ?
7.  Write the advantages and disadvantages of ready-made garments.
8.  Write any five precautions that should be taken while laundering silk garments.

HS/015
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2023
INTRODUCTORY INFORMATION TECHNOLOGY
(Theory) :: -

Full Marks — 30

Time — 12 Hours

General Instructions :
(i) All questions are compulsory.
(i) Write the number and sub-number of the question before attempting iL.

‘iii) Marks for each question are indicated against it.

[. Fillinthe blanks : 5x1=5

(a) A web address is expressed as four members separated by dots, calied address.

(b) The technical name given to the record is

(¢) World Wide Web works on the model.

(d) The element will list the items in a specific order.

(e) Usingthe element you can insert images in your document.
2.  What is home page ? 1
3. Whatis candidate key ? |
4. Whatis the use of VLINK attribute ? . 1
5. What s the purpose of <STRIKE> element ? |
6. Differentiate between a Web Server and a Web Br(-)wser. 2
7. What is the purpose of Datasheet View ? 2

P.T.O.



10.
11.
12.

13.

14.

HS/016

State any two advantages of DBMS over traditional method of'keeping data, 2
What is Default Value? 2
Differentiate between <FONT> and <BASEFONT> elements. 2
What is the difference between External linking and Internal linking ? 2

Describe in detail any three common ways by which information can be retrieved over the

Internet. , i 3

What is the use of <BODY> tag in HTML? Explain any two attributes used with this tag

‘with examples. [+2=3

Describe any three attributes of <IMG> element with examples. : 3

HS/016 2
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2023
MANIPURI
Full Marks — 80
Time — 3 Hours

Figures in the margin indicate marks.
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2023
MATHEMATICS
Full Marks - 80

Time - 3 Hours

General Instructions :

()
(ii)
(iii)
(v)

L.

All questions are compulsory.

Figures in the margin indicate marks.

In question on construction, the drawing should be neat and exactly as per the given

measurements.

Use of calculator is not allowed.

Choose the correct answer : - 24x1=24

(@)

(b)

(c)

The sum to be paid in cash under an instalment plan at the time of purchase of an article

is called —
(i) cashprice (ii) cashdown payment
(iii) instalment (iv) principal

Kunga covers 15 km in 3 hours, the distance covered by him in 8 hours is —
(i) 28km (i) 45km
(iii) 40 km (iv) 120 km

Mawii can do a piece of work in 10 days which Liani can do in 15 days. The time taken

by them, working together on it, is —

1
6

(iii) 30 days (iv) 25 days

(i) 6days (ii) days

P.1.0.



(d)

(e)

(f)

(®

(h)

(i)

HS/002

2 .
x*+7x+12 . is —

‘ i in its lowest term
I'he expression 2 6x-27
. X+4 P .
O 13 0

xX+4 n X—=4
v) 2=
Gty 222 (v) 22
The zeroes of the polynomial x* — 2x — 8 are —

(i) 4and-2 (i) —4and2

(iii) 4and2 (iv) —4and-2
The quadratic equation 2x* - 3x + 5= 0 has —

(i) twoequal real roots (ii) no real roots
(iii) two unequal real roots (iv) None of these
The 10" term of the AP: 17, 14, 11 ........... is -

(i) =10 (i) 10

(1) -7 (iv) -40

In the given figure, BC is a diameter of the circle with centre O and PAT is the tangent
atA.If ZABC =38° then /BAT is equal to —

(i) 42° . (i) 48°

(iii) 52° (iv) 55°

From a point Q, the length of tangent to a circle is 2/7 cmand the distance of Q from
the centre is 8 cm. The radius of a circle is —

(i) 6cm (i) 11cm
(iii) 15 cm (iv) 34 cm
2

Contd.
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(K)

1)

(m)

{n)

(o)

HS/002

H$/002
The lengths ol the diagonals of a rhombus are 16 cm and 12 ¢cm. Then the length of the

<ide of the rthombus s -
(1 10em (1) 9cm
() 8 em (iv) 20 ¢m

ITAB 1s a diameter of a circle with centre (2,-3) and point A is (3,-10), what are the
coordinates of point B ?

(1) (=1, 9) (i) (4,1)
(i) (1. 4) (iv) (-4,1)

The distance between the points A(-5, 8) and B (0, -4)is —

(i) 13 units (1) 12 units
(111) /14 units (iv) /119 units

A point P divides the join of A (5, -2) and B (9, 6) in the ratio 3: 1, the coordinates of
P are -

(i) (4,8) (i) (8,4)
(iii) (-8, 3) C(iv) (4,3)

The value of sec250° ~ cot?40° is equal to —

(i) 0 (i) 1
(iii) 2 (iv) 10
(I+sin@) (1~sin@) sec2g is equal to -
(i) 0 (i) 1
(iii) ~1 (iv) costg

2 cubes each of S¢cm edge are joined end to end, the volume of resulting cuboid is -
(i) 125 ¢m3 (i) 150 cm?
(iii) 200 ¢m3 (iv) 250 ¢cm?

3 P.T.O.
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(r)

(s)

)

(u)

(v)

HS/002

HS/002

If an area of a circle is numerically equal to its circumference, then the radius of the

circle is -
(i) 2 units (ii) 3 units
(iii) 4 units (iv) 5 units

The length of the longest rod that can be placed in aroom 12 m long, 9 m broad and 8 m
high is - |

(i) 132m (i) 15m

(iii) 17m (iv) 182m

The number of balls each having radius 3 cm that can be made from a solid sphere of

radius 6 cm is —

(1 8 (i) 12

(i) 24 (iv) 27

Formula for finding curved surface area of a right circular cylinder is —
(1) 27rh (i) 2zr2h

(iii) 7r2h (iv) 2hr (h+r)

A card is drawn at random from a well shuffled deck of 52 cards. Then the probability

that the card king is drawn is —

. 1 . 1
(i) 3 (i1) 2%
(i) % ) 536

IfA={a,b,c,d}, how many subsets are there in the powerset of A ?

(i) 32 (ii) 24
(iii) 16 (iv) 8
4
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(W) Ina group of R0 people, 37 like coffee, 52 like tea and 19 like both. The number of

people who like neither coffee nor tea is —
(M 10 (i) 61
(1i1) 70 (iv) 71

(X)  Use the Venn diagram shown in figure to find the set X =Y.

U X Y
(1) {a,c,e} (ii) {a,b,d}
(iii) {f, g, h} (iv) {c,b,d}
2. Answer the following questions : 10x2=20

(a) Ifthe remainder when x> + 2x? + kx + 3 is divided by (x — 3) is 21, find the value of .

-~

(b) Savanah travelled a distance of 61 km in 9 hrs. She travelled partly on foot at 4 km/hr
and partly on bicycle at 9 km / hr. What is the distance travelled on foot ?

(¢) Find the roots of the quadratic equation 4x*+ 4/3x +3=0.
(d) Find the sum of the first hundred even natural numbers which are divisible by 5.

(¢c) ABCisatriangle in which £ A is bisected by AD meeting BC at D such that BD =DC.
Prove that A ABC is isosceles.

(f)  Atangent PQ ata point P of a circle of radius 8 cm meets a line through the centre O at

a point Q such that 0Q =17 ¢m. Find the length of PQ.

HS/002 5 P.T.0.



HS/002

() Inarightisosceles A ABC, right angled at C, the vertices of Aand B are (-1, 2)and

(3, 2) respectively. Find the ‘x’ coordinate of the third vertex, i.e., C.

(h) Provethat:
tan 1° tan 2°tan 3°......... tan 89° =1

(i) Volume ofa cube is 8 cm?®. If the breadth and height of a cuboid are 1 cm each, find the
length of the cuboid if its volume is the same with that of the cube.

() The pie-chart gives the marks scored in an examination by a student. If the total marks

scored by the student is 540, answer the following questions —

(i) Inwhich subject did the student

score 120 marks ?

(ii)) How many marks did the student

score in English ?

A loan has to be paid back in two equal annual instalments. If the rate of interest is 15 % per

annum, compounded annually and each instalment is Rs 2645, find the loan and total interest

charged. 3
Find the HCF and LCM of the polynomials 6 (x* + 6x + 8) and 2x? — 32. 3
(a) Using ruler and compass only, constructa AABC in which base BC =6 cm. £ A=60°
and median through A is 4.5 cm long. (Steps of construction not required) 3
OR

~ (b) Using ruler and compass only, constructa AABC in whichAB =4 ¢m, BC = 5¢m and

AC =6 cm. Now, construct a triangle similar to AABC such that each of its sides is %
the corresponding side of AABC.-(Steps of construction not required) 3

HS/002 6 Contd.
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6. (@) Findthe rratioj " ;
" 1010 which the y-axis divides the line segment joining the points A(5, - 6)
and B (-1, - o fi
(=1,-4). Also find the points of intersection. 3
OR
b) P :
(b)  Prove that the points A (0, 0), B (0,5), C (6, 5) and D (6, 0) are vertices ofa rectangle.
3
;P cos20 sin’ 0
7. rove that : =1+sin0cos0 3

+
(1-tan®) (sin®—cos0)
8. The angles of depression of two ships from the top of a lighthouse are 45° and 30°towards

east. If the ships are 200 m apart, find the height of the lighthouse. Take ( ﬁ =1.73). 3

9. (a) A container, opened from the top and made up of a metal sheet, is in the form of a
frustrum of a cone of height 16 cm with radii of its lower and upper ends as 8 cm and 20cm
respectively. Find the cost of the milk which can completely fill the container at the
rate of Rs. 20 per litre. (Take 7= 3.14) 3

OR

(b) Asolidisin the shape of a cone surmounted on a hemisphere, the radius of each of
them is 3.5 cm and the total height of solid is 9.5 cm. Find the volume of the solid.
3
10. Solve the following system of linear equations graphically : 5
2x+3y=83ndx—-2y+3=0

Also find the points where the lines meet X-axis.

11. (a) Aline is drawn parallel to one side of a triangle to intersect the other two sides in
distinct points. Prove that the other two sides are divided in the same ratio. Also, in
triangle ABC, D and E are points on the sides AB and AC respectively such that

DE || BC.1fAD =2 cm, DB =3cm and AE =4 cm, find EC. 3+2=5

OR

HS/002 7 P.T.0.
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2023
MIZO
Full Marks - 80
Time - 3 Hours
Hriat turte :
() Zawhna zawng zawng hi chhan ngei ngei tur a ni.
(i) Zawhna tin mark put zdt chu a zawnah tarlan zél a ni.
(iit) - Chhan dawnin zawhna nambar ziah zél tur a ni
THEN KHATNA - HLA (18 Marks)
[. Adik ber hmangin dah khat rawh : 4x]1=4
(a) Zoram par lo niin. (bawmtu / mawitu / entu)
(b)  Hlim taka inhmu leh hi ani. (4rang vai/tawn leh ni /dar ang tawng)
(¢)  ‘Kum sl liam hnu’ tih hla phuahtu chu ani. (C. Lalkhawliana / C. Chhuanvawra /
P.S. Chawngthu)
(d) ‘*Mausim’ tihawmzia chu ani. (duhthusam / luah / hnawl)
2. (a) Ahnuaia hlathu hi Mizo tawng tluang pangngaiin dah rawh : 2

Tunah ngei hian an dung thil leh ang u,
Lung kan rual chuan kan hnam a him ngei ang.

‘Hmangaihna’ tih hla phuahtuin a hmangaih leh duh tak chu nupui atan nei thei lo mah se

a churiga lawm z¢l a tum chhan kha han sawi teh. 2

“Zirtukawng’ tih hla in zir atangin zirlai hlawhtling tak i nih theihna tura i hma lak dan

tur han sawi teh. 2

P.T.O.
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3. A hnuaia hla thu hi a tobula chhuiin hrilh fiah rawh : e
Khua hmuna Iéng chhingkhual rdltiang an chang ta,

Ka ngai nun hlui lawmna chul hnu leh chatuan ram khi

4. *Chhingkhual len mawi’ tih hla phuahtuin eng ang mi nge a tawn ? Khawi hmunah nge a tawn

sawi la, ami tawnin a thinlung a khawih dan kha sawi bawk rawh. 1+143=5

THEN HNIHNA - THU (78 marks)

5. Kualkhung chhunga zawhna ang zelin chhang ang che : 4x1=4

(a) Tlangval tlawmngai leh huaisen zualte chu bawhbel / awkpaka bulah an nghar mut thin.

(A dik zawk thlang rawh)

hi a ni. (In zirlai bua mi angin dah khat

(b) Hlawhtlinna déltu lian tak pakhat chu

rawh)

(¢) “Tui hnuk nung’ chu tui tamna hmun/ lui zau tak/tuihna put reng a ni. (A dik ber thlang

rawh)

(d) Kalkawngah nau paite leh nau pawmte i tawhin kawng kiantuah tang thin ang che. (A dik

nge dik lo sawi rawh)

6.  Zikpuii Pain lehkha zira chak taka hmasawn harsatzia a sawi dan kha sawi la, ‘lehkha zir’ a

sawifiah dan kha sawi bawk rawh. 1+2=3

7. *‘Peihna’tih ziaktuin kan hlawhtlin lohna chhan awm chhun a tih kha eng nge sawi la, *Peih

chhunzawm zel a va han thaem !’ a tih kha sawi bawk rawh. 1+2=3

8.  Ithian kawm ngeih tak maiin HIV/AIDS akai tih i hre chhuak a, a lakah eng ang rilru nge i put

ang tih, in zirlaia “Ral a lian e ! tih behchhanin han sawi teh. 3

9.  Mizote hi tawng lamah eng tawng hlawma awm nge kan nih sawi la, engtik kumah nge Kansu

bialah an chen ? Lén tlang leh Tiau inkara an khawsak dan tlangpui sawi rawh. 1+1+3=5

HS/005 2 Contd.
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THEN THUMNA - GRAMMAR (12 marks)

Kualkhung chhunga zawhna ang ze¢l hian chhang rawh : 2x1=2
(a) Kabulah z&l awm ang che. (Postposition thlang chhuak rawh)

(b) Lehkhabu azawngah Bible hiahlu . (Superlative degree hmangin dah khat rawh)

(a) Adjectival adverb sawifiah la, a tichiang turin entirna pahnih pe rawh. 1+1=2

(b) Adjective thenkhat chu verb-a kan hmanin a lam rik dan kan tidanglam thin a, chutiang

thumal chu pahnih sawi la, a tichiang turin thu phuah nan hmang nghal rawh.  1+1=2

A dik ber thlang rawh : 2x1=2

(a) Kalsawttheilohi tawngupain

ani. (Satel mau la ang / rih artui phur ang / a rana

rana lo)

(b) Khawvar lam arsi ang tih hi ani. (thil la chiang 1o/ duh dan thuhmun /khat pharh)

A kar awlte hi tawngkam dik zawkin dah khat rawh : 2x1=2

(a) Second Term examka mek. (pe / bei / hmachhawn)

(b) Mizoten July thla hi _____ thla kan vuah. (Vawkhniakzawm/Vawkhniakzawn /
Vawkhniahzawn)

Mizo tawng ziak dan dik zawk thlang rawh : - Ix]=2

(a) Anva nasa ve. (muthlu / mu thlu)

(b) Rawn lawk teh. (lehhawi / leh hawi)

HS/005 3 P.T.O.
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THEN LINA - LEMCHAN (6 marks)

Kualkhung chhunga a dik ber hmangin a kar awlte hj dah khat rawh : 3x1=3

(a) Hrilmawii ru botute chuan Pathianni zan inkhawm ban chu an hun tiam hnuhnung

ber a ni. (29.4.1998/28.3.1998/29.3.1998)

(b) Rothangliana chuan waiter hnenah lei nan Rs 500 note a pe a. (meizial/z{/

pankhawr)
ani.(22/23/24)

(¢) Lalnghakliana’n hliam a tawrh lai hian kum

Vanphunga khan Police chungchangah khan eng nge thlamuanthlak a tih ? S.P-in Vanphunga

hnenah. “Hrilmawii i biak hmain thil pakhat ka hrilh ang che” a tih kha eng thu nge ni han

sawi teh. 1+2=3

THEN NGANA - THAWNTHU TAWI (5 marks)

A kar awlte hi kualkhung chhunga a dik ber hmangin dah khat rawh : 2x1=2

a. (muallam / hringlam /

(a) Pasalthaho chuan mualah ralthuam kima inthuamin an
hranglam)

(b) Mihrang filawrte chawimawinanaan khimtir thin chu ani. (arkeziak / thimkual/

zawngchal)

Zidapa z{i rui khan khawi atangin nge a nupui a rawn koh ? Zidapa chanchin atangin zQ in that

lohzia Thakimin a sawi dan kha han sawi teh. 142=3

THEN RUKNA - CHHIAR (5 marks)

A hnuaia thu hi ngun takin chhiar la, a thu behchhanin a tawpa zawhnate hi chhang ang che :
Keimaha ram hrang hranga thusawi turaka zin vel thinnaah chuan ka bula mi tawng duh ve tak'
mai an thut fuh chang chuan nuam kati thin. Mi nungchang hi zir nuam ka tih vang pawh a ni
mai thei. Nitina ka hmuh leh hriat, ka ngaihthlak atang hian thil tam tak ka lo zir chhuak thin.
TV show-ah ‘Oprah’ leh ‘Geraldo Programme’ anga lungchhiatthlak leh nuih tiza pawh ka

tawng nual thin,

HS/005 4 Contd.
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Sawi nuam lo hle mahse. a chang chuan ka bula thute chuan an thinrim hrikthlak tum
mawm takin mel 600 lai kan thlawh chhung meuh mai chhum lo chat lova min titi khum pawh
ka tawng thin a. Tum khat pawh ka awm tinuam lo rawk khawpin ka bula thu chuan tun lai

thangtharte sual dan Ich tlaktlai lo a tihzia min sawi khum hrep mai a.

Ka chhuksan hnu chuan tualchhung chanchinbu chhiar pahin ka thu khawmuang a. Chu
chanchinbu phek chhung lamah chuan Indiana khuaa mipa naupang kum 15 mi, Brian-a chu
thluak natnaa a damloh chanchin hi a lo inziak a, a cancer natna damdawi ei thin ava;:g chuan
chu naupang kum 15 mi lek chu a sam a tla kawlh ta vek mai a. Kan chan ni sela kum 15 leka

sam han tlak khawlh vek chu suangtuah pawh ka ngam lo. A nuam o viau ngei ang.

Mahse, vanneihthlak takin a thiante chuan a zahna tur chu thiam takin an rawn thup sak
ta daih mai a. A thiante chuan an class-a mipaho chu an nute hnenah an dil angin an thianpaan
duhsakna entir nan an sam chu an lo met kawlh lai thlalak leh a bulah chuan an thian dangte

chuan lu kawlh vek chung hian an lo thlir thap lai hi a chuang a.

Ka bula thu pa khan tun lai thangtharho sualzia kha min sawi khum hrep mah se, kei
chuan a takin kan tun lai thangtharte inhmangaih dan hi ka hmuhin ka lungngai lo.
Zawhnate :

(a) He thu ziaktuin zir nuam a tih chu ani. 1

(b) Tum khat a zin kawnga a awm tinuam lorawkkhawpaathii tawnchu___ani. 1

(c) Brian-a lu kawlhna chhan chu ani. 1

(d) Brian-a thianten an thianpa an duhsakzia entir nan eng nge an tih han sawi teh. 2
THEN SARIHNA -ZIAK (8 marks)

A hnuaia thupui i duh zawk zawk hmang hian thumal 200 -250 vel hmangin essay han ziak teh : 5

(a) Zuk leh hmuam - zirlaite hmelma

(b) Taimakna

5 P.T.O.
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[Lawmsanga, Secretary, Khawnuam High School Energy Club i ni a, HSL.C exam lo awm tura
tha taka in inbuatsaih theihna turin, electric eng tha tak in neih theih nan Minister, Power &

Electricity Department, Mizoram hnenah dilna han ziak teh. 3

THEN RIATNA — RAPID READER (8 marks)

Khawnglung run tura an chhuah khan khawi hmunah nge an innghah khawm ? Khawnglung lal

chhungkaw zinga an mante kha tute nge? 1+1=2

‘Khawnglung run’ thawnthu in zir atangin indona avanga ram leh chhungkuain a tawrh theih

dan nia i hriat han sawi teh. 3

Chala’n Lianvawra laka Thangi a chhanchhuah tuma Thangi a zilhna kha han sawi teh. 3

HS/005
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2023
NEPALI
Full Marks - 80
Time ~ 3 Hours

General Instructions :
{1 guestions are compudsory
Eigures in the margin indicate marks
Write vour answers neatly and legibly

v While attempting a question, write the question number as given in the question paper
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Total number of printed pages — 5 HS/003

2023
SCIENCE
(Theory)

FullMarks -70

Time — 3 Hours

General Instructions :

(i) All questions are compulsory.

(i) All diagrams should be drawn neatly,

(iii) - Write the number and sub-number of the question before attempting it.

(v) Figures in the margin indicate marks.

SECTION —A (PHYSICS) 24 Marks
I. Choose the correct answer from the given options : 5x1=5
(@) Therefractive index is highest in —
(1) air (ii) water
(iii) diamond (iv) glass
(b) The beam of light enters the eye through —
(i) pupil (ii) iris
(iii) retina (iv) cornea

(c) Which of'the following terms does not represent electrical power in a circuit ?

(i) PR : C (i) IR?
(iii) VI (iv) V3R
(d) Hydrogen bomb is based on the principle of -
(i) Nuclear fusion (i) Nuclear fission
(iii) Both (i) & (ii) (iv) None of these

P.T.O.
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(¢)  The mam component of brogas 18
(1) O, (i €O,
() CHy (iv) ('zl_l,,
2. Whatis meant by the term *near point of the eye’ ? l
3. Mention any one advantage of using MCB over traditional fuse. I
4. State Ohm’s Law. What does the slope of 1-V graph represent ? I+1=2
3. Give rwo reasons why biogas is considered an ideal gas. 2
6. (@) Withthe help of a ray diagram, determine the nature, size and position of an image
formed by a concave mirror when the object is placed beyond C. 4+t 4+74=3
OR
(b) With the help of a ray diagram, determine the position, nature and size of the image
formed by a convex lens when the objectis placed between Fy and 2F,. 1%+%+%+%=3
7. (a) Withthe help ofa circuit diagram, establish the relationship for the equivalent resistance
connected in series. 1+2=3
OR
(b)  Twobulbs rated 100W at 220V and 200W at 220V are connected in parallel to a 220V
line. What is the total current drawn by them ? 3
8. Explain the construction of an electric generator with a suitable diagram. 2+1=3
9. (a) Whatis hypermetropia ? Explain the two causes of hypermetropia. How can it be
corrected ? 1+2+1=4
OR
(b) What is atmospheric refraction ? Why is the sun visible to us about 2 minutes before
the actual sunrise and for 2 minutes after the actual sunset ? 2+2=4
SECTION-B (CHEMISTRY) 23 Marks
10. Choose the correct answer from the given options : 5%1=5
(a)  Which oxide will turn red litmus solution blue ?
@) Mgo (i) S0, i) CO, ) NO,
HS/003
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(b)  Which of the following elements would lose an electron most easily ?

(i) Cu (i) Mg (i11) Na (iv) Ar
(¢) Which of the following is true ?

(i) pH>7 for an acidic solution

(i) pH <7 for an alkaline solution-

(i) pH=7 fof a neutral solution

(iv) None of these
(d) Inthe atmosphere, carbon exists in the form of —

(i) Carbondioxide only

(11) Carbon monoxide only

(iii) Carbon dioxide and traces of carbon monoxide

(iv) Carbon does not exist in atmosphere

(e) Which of the following is not an allotropic form of carbon ?

(i) Diamond (i1) Grﬁphite (iii) Methane (iv) Fullerene
What is the valency of Magnesium (atomic no=12) ? 1
Why does dry HCI gas not change the colour of the dry litmus paper ? 1
What is a homologous series ? 1

Iron articles are shiny when new, but get coated with reddish brown powder when left for

some time. Give reason. 2

What are amphoteric oxides ? Give fwo examples of amphoteric oxides. _ 2

How is tooth decay related to pH ? How can it be prevented ? 1+1=2

What are saturated hydrocarbons ? Give the general formula of alkane. 1+1=2

(a) Define metallurgy. Explain the following terms used in metallurgy — 1+1+1=3
(i) Gangue

(i1) Roasting
OR
(b) How is baking soda prepared in a laboratory ? State any two important uses of
baking soda. _ 1+2=3

HS/003 3 P.T.O.



19. (a)

An atom X has electronic configuration 2.7
(i) What is the atomic number of this clement ?
(if) To which group and period would it be present ?
(iii) What s its valency ?
(iv) What type of ion will it form ?

OR

HS/003

(b) What are decomposition reactions ? Define three types of decomposition reactions.

SECTION - C (BIOLOGY) 23 Marks

20. Choose the correct answer from the given options :

(a)

(b)

(c)

(d)

Which one of the endocrine glands is known as master gland ?

(i) Adrenal (ii) Thyroid

(iii) Pituitary ' (i) Parathyroid
Grafting is not possible in monocot plants because of the —

(i) presence of cambium | (ii) absence of cambium
(iii) presence of xylem (iv) None of these

The concept of origin of species by natural selection was given by —
(i) Lamark (ii)) Darwin

(iii) Weismann (iv) Linnaeus

The name of the structural and functional unit of kidney is —
(i) cortex (i) medulla

(iii) hilum (iv) nephrons

21. Mention the functions of phloem in plants.

722. Whatis a food web ?

23, Why does impulse move in one direction in anerve ?

24. Mention any two effects of ozone layer depletion.

HS/003
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1+3=4
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25, (@) Explain vegetative propagation through layering. Name one plant that uses layering for
its propagation. 24+1=3
OR
(b)  With the help of a labelled diagram, describe the different parts of a flower.  1+2=3
26. Briefly state Mendel’s finding with respect to — 1+1+1=3

(a) Dominant and recessive characters
(b) Law of segregation
(¢) Law of independent assortment

27. What are the disadvantages of deforestation ?

3

28. (a) Describe the structure of nephron with a labelled diagram. 3+1=4
OR

(b) (i) Differentiate between au.totr0phs and heterotrophs. 1

(i)  Explain the structure of a chloroplast. 3

HS/003
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2023
SOCIAL SCIENCE
Full Marks — 80

Time — 3 Hours

General Instructions :
(i) Answer all the questions.

(i) Write the number and sub-number of the question before attempting it.

(iii) - Figures in the margin indicate marks.

INDIA AND THE CONTEMPORARY WORLD - Il (24 marks)

1. Answer the following questions : 4x1=4
(a)  Which society set up by the Greeks aimed to end the Muslim rule ?
(b)  Where did the Jallianwala Bagh incident take place ?
(c) Who was known as the ‘Father of Railway’ ?
(d) Write one advantage of the Bretton Woods System.
2. Choose the correct answer from the given options : 4x1=4

(a) Which of the following statements is not correct ?

(i)  The French Revolution pioneered and popularised the principles of liberty. equality

and fraternity.
(ii) Napolean Bonaparte was an English General.

(iii) The term ‘liberalism’ is derived from the Latin root ‘liber’ which means

‘free’.

(iv) The ideologies of nationalism and liberalism were a product of the Industrial

Revolution.

P.T.O.
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In 1733, John Kay invented —
(i) the water frame (ii) thespinning mule
(iii) the flying shuttle (iv) the steam powered locomotive
Which of the following was Gutenberg’s first printed book ?
(i) TheBible (ii) Ballads
(ii1) Dictionary (iv) Chapbook
Which of the following statements is correct ?
(i) Ishwar Chandra Vidyasagar was the pioneer of the Vernacular press in Bombay.
(i) .Swamakumari Devi was a famous nationalist and social reformer.

(iii) Johannes Gutenberg played a crucial role in developing Indian Nationalism.

(iv) Raja Ram Mohan Roy was the founder of the nationalist press in India.

3. Write any two factors responsible that led to the Great Depression. 2
4.  Write any two advantages of globalisation. 2
5. Howdid the press help the nationalists in India ? 2
6.  Explain any three causes behind the rise of nationalism in Europe. 3
7. Analyse the impact of railways on Industrialisation. 3
8. (a) Briefly commenton the peasant movement in India. Give two examples. 4
OR
(b) Give a brief description of the Salt March undertaken by Mahatma Gandhi with his
followers. 4
INDIA - RESOURCES AND THEIR DEVELOPMENT (27 marks)

9.  Answer the following questions : 5x1=5

(a) What is meant by resource planning ?

(b) What are endemic species ?

(c) Name the information technology capital of India.

(d) Which mineral is used as a fluxing agent 7

(e) Whatis transportation ?

HS/004
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10, Choose the correct answer from (he piven options Ax| =4

)

Wentity the incorreet statement

(1) Onthe basis of origin, natural resources are clussitied into two categorics,
(i) Non-renewable resources are exhaustible resources.

(it))  The percentage of Net Sown area in India is 75%.

(V) Black soil is also known as regur soil.

(b)  Agro based industries obtain their raw materials from -
(1) animals (ii) agriculture
(iil) forests (iv) minerals
(¢)  Underground tanks for storing water in Rajasthan are called -
(1) Tanka (ii) Paler Pani
(111) Johads (iv) Tubewells
(d)  Which of'the following statements is correct ?
(i)  BExport of manufactured goods helps to bring in valuable foreign artists.
(ii) Theiron and steel industry is an example of consumer goods industry.
(iii) Power supply is notan essential requirement of an industry.
(iv) The first cotton textile industry was started in Mumbai.
11. What problems do we face due to the depletion of forests ? 2
12, ‘Iron ore is an important metal used in our modern industry’. Give fwo reasons. 2
13. What are the advantages of water as a means of transportation ? 2
1+2=3

14. What is rainwater harvesting ? Write its /wo advantages.

15. (a)

(b)

HS/004

What are the geographical conditions required to grow wheat? Mention the leading

producer State in India. 3w
OR

Describe any four different forms of farming in India. 4

3 P.T.O.
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(¢)  Vishakapatnam (H)
DEMOCRATIC POLITICS -1l (72 marks)
Choose the correct answer from the given options : 3%1=3
(a) A patriarchal society is one where —
(1)  society is controlled by women
(i1) men dominate society
(111) men and women share equal power
(iv) women dominate men
(b) Democratic governments are in nature.
(1) responsive (ii) unresponsive
(ii1) meticulous (iv) excellent
(c) Thesystem of government in India is —
(i) Oligarchy (ii) Dictatorship
(iii) Democracy (iv) Theocracy
What is meant by a manifesto ? 2
Explain the challenges to democracy in India.
(a) How is power shared among different organs of Government of India ? 4
OR
(b) Discuss the Centre-State relationship. 4
UNDERSTANDING ECONOMIC DEVELOPMENT - Il (12 marks)
Choose the correct answer from the given options : 3x1=3
(a) The number of children who die before the age of one year —
(i) Literacy (ii) Human Development Index
(iii) Infant Mortality (iv) Purchasing Power Parity
HS/004 4 Contd.
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Draw an outline map of India and insert the following : 244 Yttt =5

(2)  River Godavari (b) Aravallirange
(¢)  Digboi (d) Wular lake

Indira Gandhi International Airport




(b)

(c)

HS/004
The most common route for investments by MNCs in countries around the world is
to
(i) setup new factories
(i1) form partnership with local companies
(iii) buy existing local companies
(iv) expand communication facilities.
The policy of reducing regulations formulated to restrict the operation of the private

sector is known as —

(i) Mixed economy (ii) Liberalisation
(iii) Globalisation (iv) Privatisation
22. What is meant by Social infrastructure? 2
23. Discuss some of your duties as a consumer when you buy goods from Millenium Shopping
Centre. 3
24. (a) Explain various stages in the evolution of money. 4
OR

(b) How are the terms of credit offered by the informal and formal institutions different ?

4

DISASTER MANAGEMENT (5 marks)
25. What does the term HAM stand for ? 1
26. State any two roles of community in disaster management. 2
27. Write two things you should do when a person falls unconscious or faints. 2

HS/004
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General Instructions :

(1!

(i}

i)

vy

This question paper is divided into four sections - A, B, C"and D.
All the sections are compulsory. Answer all the questions.
Write the number of the question before attempting it.

Marks for each question are indicaled against it.

SECTION -A : Reading (10 marks)

Read the following passage carefully and answer the questions that follow :

In one of the great cities, a large factory building caught fire. Hundreds of girls, working
on the upper floors, were in danger of death. The flames and the blazes were rolling up the
fire escapes, cutting off all avenues of escape.

The crowd stood on the outside waiting for the firemen to arrive !

In that crowd was a young man who was different from all the others. He took in the
situation, hurriedly measured the distance with his eyes from the burning building to another
building just across the alley, then, just as if he were in full charge he began to give orders to
the bystanders and in a few minutes he had rustled a crew of six strong men.

He led the way and they followed him to the top of the adjoining building. On his way up
he had picked up a rope and his six followers had torn down a billboard and carried the planks
to the top of the other building.

This self-appointed leader threw one end of the rope to a woman in the window of the
burning building and instructed her to fasten it. He scaled the rope, carrying one end of a
plank with him. His six helpers pushed out the boards they had carried up and soon they had
completed a very substantial bridge from one building to the other.

When the firemen arrived, nearly one-third of the occupants of the burning building
were out of danger !

PO
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1.3

s something which
Leadership is something which seldom comes by invitation. Iti s 2%

or a first-class lead
must invite yourself into. In every business there is a fine opening fi er.

without som
But, he must be a man who is willing to do the thing that ought to be done eone

telling him to do it.

Anybody could have had that glorious job as leader, merely by stepping up and taking it,
but the fact remains that only one man out of the whole crowd saw the opportunity and was

willing to take the risk that went with it.

Leadership means responsibilities, it is true, but the most profitable work usually is
that which shoulders the greatest responsibility on aman. Wherever there is work to be done
you can find a chance to become a leader. It may be humble leadership, at first, but leadership
becomes a habit and soon the most humble leader becomes a powerful man of action and he
is then sought for greater leadership.

On the basis of your reading of the above passage, answer the following questions briefly :

3x2=6
(a) Why were hundreds of girls trapped in the large factory building ?
(b) How was the young man different from the rest of the crowd ?
(c) How can one become a great leader ?
Choose the most suitable antonym : 2x1=2

(a) hurriedly

(i) idly (i)  rashly (ii1) hastily (iv) quickly
(b) seldom
(i)  rarely (i) hardly (iii) scarcely (iv) often
Based on the passage above, fill in the missing word on how the substantial bridge was made.
2x1=2
The young man picked up a rope and his team carried the (a) —__ of the billboard to the

top of the other building. The young man threw one end of the rope to a woman in the burning
building. She, then, fastened the rope following the (b)

given to her by the young
man. He scaled the rope, carrying one end of a plank with him. His team pushed out the

boards. They had completed a very substantial bridge.

HS/001 2 Contd.
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‘ader. SECTION - B : Writing (15 marks)
ik 2. (@ Youare Remmawia of Taitesena | ligh School. The Adventure Club of your school has
goneto Phawngpui Tlang on a school trip for a week. Write a posteard to your parents,
it mentioning your experiences, the beauty of the place and your activities in not more
\\‘:1§ than 50 words. 5
OR
- (b)  Read the tollowing telephonic conversation between Mrs. Zopari and Kima. As she is
;me leaving home soon, she leaves a message. Write the message in not more than 50 words. 5
hip
{ he Kima : Hello ! May I speak to Sanga ? [ am his friend, Kima.
Mrs Zopari : 1am sorry but my son is not at home. He has gone out with his father.
Y. Kima : We have arranged a cricket match and we wanted him to play on our side.
=6 Please tell him that the match will start at 10:00 A.M. .today at Durtlang
Field.
Mrs Zopari : Twon’t be able to meet him, but I will leave him a message.
Kima : Thank you. Please tell him to bring his cricket gear and our Club jersey.
=) Mrs Zopari : Yes, [ will remember that.
3. Youare Rohlupuia, Student Leader of Neuva High School. Write an article to be published in
your school magazine on the topic “Growing use of Mobile Phones and its positive and negative
impacts on students.” (Word limit : 150 - 200 words) 10
SECTION - C : Grammar (15 marks)
de. 4. Fill in the blanks with the suitable form of the verbs given in the bracket : 4x1=4
i (a) Mawii —— music class every Saturday last month.
e (attend / attends / attended / attending)
e (b) Fela___whenthe thief entered his house.
.:li (study / studies / is studying / was studying)
(c) Theneed ofthe hour — to conserve and protect our environment.
(is / are / was / were)
i 3 PTO.
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(d) Tam visiting my grandmother who ___here all her life.

(has lived /had lived / have lived / have been living)

HS/001

(Y

- b § ive i i atory :
ldentify and label each sentence as declarative, interrogative, imperative or exclamatory

(a)
(b)
(¢)
(d)

Hello ! Nice to see you !
You did not do your duty well,
Keep to the left.

Have you done your homework ?

Choose the correct option to change the narration :

(a)

(b)

(c)

(d)

HS/001

John said, “It has been raining since dawn.”

(i)  John said that it has been raining since dawn.
(i1) John said that it was raining since dawn.

(iii) John said that it had been raining since dawn.
(iv) John said that it is raining since dawn.

The girl said, “My dog hid under the table.”

(i)  The girl said that her dog had hidden under the table.

(ii) The girl said that her dog hides under the table.

(iii) The girl said that her dog was hiding under the table.
(iv) The girl said that her dog has hidden under the table.

The priest prayed that God might pardon the sinners.

(i)  The priest said, “May God pardoned the sinners !”
(ii) The priest said, “May God pardon the sinners !
(iii) The priest prays, “May God pardoned the sinners !”
(iv) The priest prayed, “Might God pardon the sinners !”
The lady said that it was hot and stuffy that night.

(i)  Thelady said, “Itis hot and stuffy that night.”

(ii) The lady said, “Itis hot and stuffy tonight.”

(iii) The lady said, “It was hot and stuffy last night.”

(iv) The lady said, “It was hot and stuffy tonight.”

4

4x1=4

4x1=4

Contd.
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BECTION D Text hook (40 marks)
N At e itony il aninwer e eoeatio ish Do herwy

| “\IHH‘ 111 T LTI ll“lu ||l|- IR TR Hb 11 Feipewhicne | s teti /i il the e #!
P et v b By b oanal it

Gy W G e et W e il the et alid | e fen f V)

W R e doke fon b e IO L .

W e e e et e e lon aned e i gueations it Tallorw

Fheet ned s et Beonghe e nalility o Dt T, gave prrotivise of a grester bhoge
Bt i ey
) AT e o ey et Wopee Do homnin society ™7 /
(Wbt action did Nivola and dacopo pertonm thit touck o e narrabon deagplly 7 2
W) T he wkter of the story S Hhe Day ol an American Journalist in 28897, descnbes
WAty fventions fnoan i inaey future Write any Jour instances on how

wmevhanization B changed the Lie ofpeople in the year JHH0. (Word himn - 50 75
Wi 4

(K

(D Ivour o words, explain the eftects of the "Iy Drake Shake' on the narrator and
fhett parni i the story Adventures in Antarcticn’ . (Word Limit - 50-75 words) 4

LE baplain how Peta yon'squiek thinking saved Geaham's lite in the story “Don’t Die,
Graham ! Don't Die T (Wond Hindt : S0 78 wordy) 4
1Y Rewd the extmaetgiven below and amwer the questions that follow, Write your answer in one
O Ao sentenees onldy
“Polk would be stunned to hear the deed.
Dadawould say, ‘How canithe™?
My puny litile brother
(@) Name the poem and the poet. | -

() What reaction does the nartator imagine from his brother ? |

RSO0 5 P.T.O.
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(¢)  Here, ‘stunned’ means —
(i) delighted
(1) shocked
(1ii) fearless
(iv) relaxed
Read the lines from the poem and answer the questions that:fullaw. Wil youe anawer iome
or fwo sentences only.
"My fugitive years are all hasting away
And [ must ere long lie as lowly as they,
With a turfon my breast and a stone at my head,

Ere another such grove shall arise in its stead.”
What does the poet realize about himself after seeing the fallen poplar trees ? 2

(a)

(b) A person running away from somewhere is a — 1
(i) fugitive (ii) grove (ii) turf (iv) stead

14. (a) According to D.H. Lawrence, mankind calculates the worth of a person in terms of
money in the poem, “Money-madness”. Do you agree ? Based on your experiences or
from what you have read or heard. Write your answer in about 50 to 75 words. 4
OR
(b) Inthe poem, “Written in the Fields”, the poet stated his view that a happy man is one who

lives in harmony with nature in the countryside. Suggest ways on how one can live a
peaceful and contented life in harmony with nature. (Word limit : 50 to 75 words) 4

15. Readthe extract given below and answer the questions that follow
‘For this reason, great care is taken to keep the paper a secret.’
(i)  Whois the speaker ? What paper is he talking about ?
(ii) Why is great care taken to keep the paper a secret ?

OR

(b) ‘AmIso bad that it cannot be my friend 2 Who will answer this question

(a)

2

?Ican’task my

parents.’

(i) Who is the speaker ? What friend is he referring to ? 5

(ii) Why can he not ask his parents for the answer ? 2
Contd.
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(b)

17. (a)

(b)

18. (a)

(b)

HS/001
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“Thus were the tables turned.’ Explain this line by recounting the turning of events in

the story, *The Merchant of Venice’ in your own Words. (Word limit : 50 to 75 words) 4
OR

Inthe lesson, ‘The Story of My Life’, why did Helen Keller repent breaking her doll 7

(Word limit ; 50 to 75 words)

The German Government bought Eshley’s picture “OX in a morning-room, late Autumn”
1

4

when it was exhibited at

(iii) London (iv) Munich

was still operating and broadcasting the
1

(i) Paris (i) Africa

In the story, ‘The Paper Plague’, the

news and announcements.
(i) television (ii) telegraph  (iii) radio (iv) newspaper

The story “The Stalled Ox” is humourous and entertaining. Humour plays an important
role in our understanding of ourselves, our society and our world at large. According to

you, what role does humour play in our everyday life ? Write your answer in about
4

50 to 75 words.
OR

The narrator of ‘The Corner Shop’ was impressed by the smiling faces and easy
manners of the owners of the antique shop. How important is first H.Bummmmwos in

building a relationship ? Write your answer in about 50 to 75 words. 4



